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Mark the letter A, B, C, or D on your answer sheet to indicate the words whose pronunciation is
different from the others in each of the following questions.

Question 1: A. light B. fine C. knife D. principle

Question 2: A. southern B. breathe C. threaten D. there

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the
position of the main stress in each of the following questions.

Question 3: A. understand B. interrupt C. accomplish D. entertain

Question 4: A. machine B. nature C. absence D. standard

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
following questions.

Question 5: My sister has had so many different jobs that it's hard for me to track of what she’s
doing.

A. keep B. make C. obtain D. gain
Question 6: Many students are trying their best because they are worried the coming GCSE exam
at the end of this June.

A. of B. from C. with D. about
Question 7: This book is than the one that you lent me last month.

A. interesting B. the most intersting C. more interesting D. most interesting
Question 8: | couldn't what he had talked about because | didn’t get used to his accent.

A. make out B. break up C. come up D. get off
Question 9: This current event is live by satellite to over one hundred countries.

A. transacted B. transferred C. transmitted D. translated
Question 10: Frederick intends a computer course about artificial intelligence after he graduates
from high school.

A. to taking B. to take C. take D. taking
Question 11: My mother dinner in the kitchen when my father returned home from work.

A. is preparing B. was preparing C. prepares D. prepared
Question 12: The students often play badminton after school to improve their health.

A. @ (no article) B.a C. the D.an
Question 13: The man had a face like when some boys broke his car window.

A. lightning B. thunder C. tornado D. snowstorm
Question 14: to most of the Viethamese universities depends on examination results.

A. Admission B. Admittance C. Permission D. Allowance
Question 15: Ninh Binh, 90 kilometers southeast of Hanoi, has been ranked seventh in the most
welcoming regions at the 11" annual Traveller Review Awards of travel website Booking.com this year.

A. locating B. located C. is located D. is locating
Question 16: Children’s TikTok tics when they spend too much time watching videos of people
with movement disorders on Tiktok and Youtube.

A. caused B. can be caused C. causing D. are causing
Question 17: My hometown is well-known for a lot of landscapes which attract millions of visitors
every year.

A. ecologically B. ecology C. ecologist D. ecological
Question 18: Digidog is a robotic dog used for policing purposes, ?

A. does it B.isn'tit C. wasn'tit D. didn’tit
Question 19: Students’ health will be seriously damaged, .

A. after they had smoked e-cigarettes B. by the time they smoked e-cigarettes

C. as soon as they smoke e-cigarettes D. when they smoked e-cigarettes
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Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete
each of the following exchanges.
Question 20: Kevin is inviting Jessica to come his house for dinner.

- Kevin: “Would you like to come to my house for dinner this weekend?”

- Jessica: “ . Luckily, I haven’t come up with any plan up to now.”
A. That sounds great B. It's none of my business
C. I'm all right D. What a pity

Question 21: Two students are discussing about the benefits of English competitions.
- Nam: “I believe that the OTE and IELTS Conquest Competition is an intellectual playground for Ninh
Binh’s students to show their talent in English.”

- Mai: “ . It also helps them develop their critical thinking and communication skills.”
A. There is no doubt about it. B. Don’t mention it
C. I don’t agree with you D. I'm afraid so

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is OPPOSITE in
meaning to the underlined part in each of the following questions.
Question 22: You had better not wear this dress to the party because its style is becoming outmoded.

A. unfashionable B. attractive C. fashionable D. realistic
Question 23: Mr Raymond handed in his resignation because he had been tired of being a _tiny cog in a
vast machine for a long time.

A. a small group of people B. a significant instrument

C. alarge piece of equipment D. an important person

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST in
meaning to the underlined part in each of the following questions.
Question 24: Biogas can be utilized for electricity production, cooking, space heating, water heating and
process heating.

A. sparing B. generation C. increase D. reformation
Question 25: The government’s plans have brought about considerable results in the economic field such as
high economic growth, stability and significant poverty alleviation over the past few years.

A. development B. prevention C. reduction D. achievement

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each
of the following questions.
Question 26: “What did you have for your dinner last night? “ said the doctor to Albert

A. The doctor asked Albert what he had for his dinner the night before.

B. The doctor asked Albert what had he had for his dinner the night before.

C. The doctor asked Albert what he had had for his dinner the night before.

D. The doctor asked Albert what did he have for his dinner the night before.
Question 27: No workers in this factory are allowed to smoke because of fire safety concerns.

A. All of the workers in this factory needn’t smoke because of fire safety concerns.

B. All of the workers in this factory mustn’t smoke because of fire safety concerns.

C. All of the workers in this factory might smoke because of fire safety concerns.

D. All of the workers in this factory shouldn’t smoke because of fire safety concerns.
Question 28: Mr Stephen last organized a field trip for his students 3 weeks ago.

A. Mr Stephen didn’t organize a field trip for his students for 3 weeks.

B. Mr Stephen hasn’t organized a field trip for his students for 3 weeks.

C. Mr Stephen organized a field trip for his students for 3 weeks.

D. Mr Stephen has organized a field trip for his students for 3 weeks.

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in
each of the following questions.
Question 29: Rosy doesn’t go on an excursion with her classmates yesterday because she felt sick.
A B C D
Question 30: Many countries are planning to develop ecotourism thanks to their vital roles in protecting the
A B C
environment and creating jobs for locals.
D
Question 31: In order to make an informative decision about your future career, it is advisable to partake in
A B C
career orientation programs for high school students in your town.
D
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Mark the letter A, B, C or D on your answer sheet to indicate the sentence that best combines the pair
of sentences given in each of the following questions.
Question 32: | don't have time. | can’t go on an eco-tour to Cuc Phuong National Park.

A. If I had time, | couldn’t go on an eco-tour to Cuc Phuong National Park.

B. If only | had had time, | could have gone on an eco-tour to Cuc Phuong National Park.

C. Provided that | have time, | can’t go on an eco-tour to Cuc Phuong National Park.

D. If | had time, | could go on an eco-tour to Cuc Phuong National Park.
Question 33: Many young boys had just graduated from high school. They were recruited into the army for
millitary service.

A. No sooner had many young boys graduated from high school than they were recruited into the army for
millitary service.

B. Not until many young boys were recruited into the army for millitary service did they graduate from high
school.

C. Without being recruited for millitary service in the army, many young boys wouldn’t have graduated from
high school.

D. Only after many young boys were recruited into the army for millitary service did they graduate from
high school.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word for each of the blanks.

In an educational context, the term ‘learner independence’ has gained increasing importance in recent
years. It is of particular (34) to language learning and commonly refers to the way students
confidently control and organise their own language learning process. While (35) people seem to
have an almost instinctive flaw for languages, others have to rely on strategies to maximise their skills and
learn a foreign language more effectively.

The main thing to remember is that becoming a truly independent learner ultimately depends above all on
taking responsibility for your own learning and being prepared to take every opportunity available to you to

learn. You also increase your chances of (36) by learning according to your own needs and
interests, using all available resources. Research shows that learners (37) adopt this approach will
undoubtedly manage to broaden their language abilities considerably and, (38) , are more likely to

achieve their objectives in the longer term.
(Adapted from “Complete Advanced” by Laura Mathews and Barbara Thomas)

Question 34: A. acceptance B. relevance C. acquaintance D. resemblance
Question 35: A. much B. another C. some D. every
Question 36: A. suspicision B. failure C. success D. interest
Question 37: A. where B. why C. which D. who
Question 38: A. in contrast B. because C. though D. as a result

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions.

Deep brain stimulation (DBS), an experimental technology that involves implanting a pacemaker-like
device in a patient’s brain to send electrical impulses, is a hotly debated subject in the field of medicine. It is
an inherently risky procedure and the exact effects on the human brain aren’t yet fully understood.

But some practitioners believe it could be a way to alleviate the symptoms of depression or even help
treat Alzheimer’s - and now they suspect it could help with drug addiction as well. In a world’s first, according
to the Associated Press, a patient in Shanghai’s Ruijin Hospital had a DBS device implanted in his brain to
treat his addiction to methamphetamine. And the device has had an astonishingly positive effect, the patient
says. “This machine is pretty magical. He adjusts it to make you happy and you're happy, to make you
nervous and you’re nervous,” he told the Associated Press. “It controls your happiness, anger, grief and joy.”

Other studies in China have yielded mixed results trying to treat opioid addictions using DBS, according to
the AP. In the United States, at least two studies that tried to treat alcoholism with DBS were dropped for not
being able to justify the risks. The idea of using DBS to treat drug addiction has raised concerns in medical

communities across the globe about brain hemorrhage, seizures, or personality changes.
(Adapted from https://www.sciencedaily.com)
Question 39: What is the passage mainly about?

A. Curing Addiction B. Deep Brain Simulation
C. Symptoms of Depression D. Brain Diseases
Question 40: The word alleviate in paragraph 2 is closest in meaning to .
A. ease B. destroy C. demolish D. devalue
Question 41: According to the passage, the use of DBS .
A. has been thoroughly studied by scientists. B. has achieved both positive and negative results.

C. has successfully cured opioid addictions in China. D. has been approved by all Chinese practitioners.
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Question 42: All of the following are mentioned in the passage as concerns about the use of DBS to treat
drug addiction in medical communities worldwide EXCEPT

A. personality changes B. seizures C. brain hemorrhage D. alcoholism
Question 43: The word they in paragraph 2 refers to .
A. symptoms B. studies C. patients D. practitioners

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions.

From smartphones and tablets to apps and social media, society is ambushed from all sides with
technology. Naturally, all generations embrace it differently, with younger “digital natives” generally being
more connected, more switched-on and more tech literate than older age groups.

According to Pew Research, 92% of Millennials (born 1981-1996) own smartphones, compared with 85%
of Gen Xers (born 1965-1980) and 67% of Baby Boomers (born 1946-1964). In terms of tech behavior, older
generations tend to use their phones mostly for making calls, whereas for younger generations, a phone is
their digital window to the world. Phones are used for social media, going online, texting, emailing, playing
games, listening to music, and recording and watching videos.

The daily media consumption of different generations also vastly differs. Gen Z and Millennials favor
streaming and online services, with 46% of teens saying they use Netflix compared to 31% of those aged
over 16. Furthermore, 16-24s spend 30% of their downtime watching TV or video, compared to 40% of time
spent on these activities by the average UK adult. Boomers spend a whopping 344 minutes a day watching
regular TV, significantly more than any other age group.

Size also matters more depending on your decade of birth. Younger generations prefer smaller screens
sizes, opting for a smartphone as their go-to tech, while Generation X and technology newbies - the Boomers,
are going bigger, owning more desktops and tablets. Always in the front of the queue for the hottest tech,
younger generations see technology as an integral part of their existence, and since few Millennials and Gen
Z can remember a time without social media, they’re more fearless and carefree when it comes to technology.
So much so, that a LivePerson report revealed 65% of Millennials and Gen Z interact more with each other
online than they do in the real world.

Fundamentally, these behaviors and preferred technologies combine to create a technological generation
gap, where employees, shaped by their personal experiences, demonstrate different levels of ability and
willingness to adopt new tech. Constantly chasing the next update or device, switched on Millennials and Gen
Z are quick to lap up the latest apps, games, and platforms, while Gen X and Boomers are generally slower to
embrace technology - both at home and in the workplace.

(Source: https://info.templafy.com/)
Question 44: Which best serves as the title for the passage?

A. Decoding the Ethical Generational Gap. B. Bridging the Technological Generation Gap.

C. Solving Problems among Generation Gap. D. Explaining the Technological Generation Gap.
Question 45: The word it in paragraph 1 refers to .

A. media B. window C. technology D. society

Question 46: According to paragraph 2, what is the technological characteristic of Millennials?
A. They are dependent on smartphones for almost every activity.
B. They are optimistic about technology’s benefits to society.
C. They are ignorant to the older ones’ advice about technology.
D. They are hesitant when discussing about technology.
Question 47: The word downtime in paragraph 3 is closest in meaning to .
A. inactivity B. suspension C. stay D. spare time
Question 48: According to paragraph 4, which statement is TRUE about different generations and their gap?
A. Younger generations prefer bigger technological devices over portable ones.
B. Boomers are willing to queue overnight for a state-of-the-art mobile gadgets.
C. Millennials and Gen Z are more accustomed to face-to-face than messaging.
D. iPhones and other mobile devices are a necessary part of young people’s life.
Question 49: The word embrace in paragraph 5 is closest in meaning to .
A. reject B. adopt C. include D. cuddle
Question 50: Which of the following can be inferred from the passage?
A. The difference in digital literacy and ability between generations is negligible.
B. Generation gap issues in work life can result in workplace tensions and hinder team collaboration.
C. There's a huge disparity in attitudes towards technology among different age groups.
D. Catering for the diverse digital habits and capabilities of individual students is essential.
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